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Please check that this question paper contains 19 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 23 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i) 97 % T BE & 7w fvard 8 |

(iii) wOefEr & 9T 9T @ AR T H G FE TH T & FAT 8 |
(iv) [F4 397 & T 9 & 3 T% & ©WH | fafE@w |

General Instructions :

67/1

(1) This question paper contains three parts A, B and C.
(it)  Part A is compulsory for all candidates.

(1i1) Candidates can attempt only one part of the remaining parts
B and C.

(iv)  All parts of the questions should be attempted at one place.

0T &
(NS TSI, WEEH WA agn wwE & o SEiE)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

T U qe H AW ARy S Wi U e @ % e e § el
S, SR ‘T Ud g @ier d9) Sd G99 UF g & &7 § <uiE S # |
Name an item which is never shown on the ‘Payments’ side of

‘Receipts and Payments Account’, but is shown as an Expense while
preparing ‘Income and Expenditure Account’.

& UERH GoE ¥ Ut W SN F e % yEgE @ A 9§ 2010 — 2011 F
A FOA R A F WH WA §E | O R e R ) ¥ e smom 2

A partnership deed provides for the payment of interest on capital
but there was a loss instead of profits during the year 2010 - 2011.
At what rate will the interest on capital be allowed ?

N ST a1 AA I F FE TEH HA=W FasC |

Give any one distinction between sacrificing ratio and gaining ratio.
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s 1 § U 9ERR & YU & 5 T 32Y @ 3@ i | 1

State any one purpose for admitting a new partner in a firm.

31 areAT & o 3d § 2 1

What is meant by calls in advance ?

frfafad ger & 31.3.2011 & T a4 & o 39 T4 9 @A H Q@A F
faw o= &t s@=n R # e AT AR FAE T 1000 F SR TEF T 300
afis == <l @ |

g9 2010 — 2011 ¥ | ==1 : ¥ 3,00,000.

31.3.2011 & W wra ==y : T 36,800.

1.4.2010 & 3T T=7 : T 32,000.

1.4.2010 & 3fqH w1 == : T 25,000 3

From the following information, calculate the amount of subscriptions due
to be shown in the ‘Income and Expenditure Account’ for the year ended
31.3.2011 if there are 1000 members and each paying ¥ 300 p.a.as
subscription.

Subscriptions received during the year 2010 — 2011 : ¥ 3,00,000.
Subscriptions received in advance as on 31.3.2011 : ¥ 36,800.
Subscriptions outstanding as on 1.4.2010 : ¥ 32,000.

Subscriptions received in advance as on 1.4.2010 : ¥ 25,000.

g fa. 7 da=m fa. ¥ 2 3,00,000 F wR F FF FA 1 T 1,00,000 H
A fosm 9. & w1 ¥ 9 @ yfow W $ 5w e w1 9w e @ e
T 10 9fq fwr & wwer iU # 25% & feny W fifad s feam e |

g fa. i g § savas s sfafgar #ifke | 3

Sundram Ltd. purchased Furniture for ¥ 3,00,000 from Ravindram
Ltd. ¥ 1,00,000 were paid by drawing a Promissory Note in favour of
Ravindram Ltd. The balance was paid by issue of Equity Shares of
% 10 each at a Premium of 25%.

Pass necessary Journal entries in the books of Sundram Ltd.

3 PiRNO.
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F9 oAl fa. 9 T 100 ¥@F & 3000, 12% RO & A & faw emees smfEd
T | 3 FoTEl @ T 50 ST w9 & item W feifid fEr S oar 1 gt afe
A AT WO HAT 4T |

T 4000 FUE & fAU &S W g | 1000 FOGE F AU @S # | W
fear T Qe smaeT W F; odler fear w1 VW IrEEH F RO eI W
fear mar |

SR TFe & fau 9 @t fq. @ g § avas Jsemmer yfafve S |
Nav Lakshmi Ltd. invited applications for issuing 3000, 12%

Debentures of ¥ 100 each at a premium of ¥ 50 per Debenture. The
full amount was payable on application.

Applications were received for 4000 debentures. Applications for 1000
debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applicants.

Pass necessary Journal entries for the above transactions in the
books of Nav Lakshmi Ltd.

TE q47 ST Th BH H GRieR 4 S 3 : 2 % U W o sied ¥ 1 1.4.2010
® TR RN gSt A YR o @e € 1,00,000 T STEA T 2,00,000. 3R
St W 12% fd o N R ¥ g W W 15% T I H W ¥ =W @
& faufa feam 1 31.3.2011 & W@ gC 99 & AU IWE 9 FHESH 9
HH H @9 T 30,000 A1 | G & SN e a9l a9 & 3R FHASE T 3,000
qgr T 5,000 ¥ | AT TERT B OWE A W G H Av-aia b @
AR ST | wH H oEl g @ g § ot g W s fem s |

Lalan and Balan were partners in a firm sharing profits in the ratio
of 3 : 2. Their fixed capitals on 1.4.2010 were : Lalan T 1,00,000 and
Balan T 2,00,000. They agreed to allow interest on capital @ 12% per

annum and to charge on drawings @ 15% per annum. The firm
earned a profit, before all above adjustments, of ¥ 30,000 for the year
ended 31.3.2011. The drawings of Lalan and Balan during the year
were I 3,000 and ¥ 5,000 respectively. Showing your calculations,
clearly prepare Profit and Loss Appropriation A/c of Lalan and Balan.
The interest on capital will be allowed even if the firm incurs a loss.



10. &,@, 7 G4 ¥ SR § ST ndt A Hr 3:3:2:2 % oy A fawfer
T STIHN TG AR TN F, @ @ T e H qgm H 3:2:1F IUA
4 fowfsa & & fofg o & 1 wH @ =g @ gedisA T 6,00,000 fEEm T o
w F T § @l wd ¥ & T4,50,000 F g R LT F IEHY TG KA F
IW TEd F¥ T 12,00,000 F I g | S & w@iRT adr o & faeR &
fau smavas UsHmen sfafeal e | o9 st @ WY 9§ g9y | 4
A, B, C and D are partners sharing profits in the ratio of 3 : 3 : 2 : 2
respectively. D retires and A, B and C decide to share the future profits
in the ratio of 3 : 2 : 1. Goodwill of the firm is valued at ¥ 6,00,000.
Goodwill already appears in the books at ¥ 4,50,000. The profits for the
first year after D’s retirement amount to ¥ 12,00,000. Give the necessary
Journal entries to record Goodwill and to distribute the profits. Show your
calculations clearly.

11. Hafod fa. 3 39 T 100 5% & 1250, 12% FoE & e & ffg faar | s
850 RUIGEI F FFT God ISR § T 96 T FOMT W fRAT | U TG H wWES
e " R T | SR A RO WEA @Y & ST ST Rl § gdad &
faram gam 2 |

I TeAl & AU FA R g H sTeavas UsHmer yatedt S | 4
Sarvottam Ltd. decided to redeem its 1250, 12% Debentures of ¥ 100 each.

It purchased 850 Debentures from the open market at ¥ 96 per Debenture.

The remaining Debentures were redeemed out of profit. The company has
already made a provision for Debenture Redemption Reserve in its books.

Pass necessary Journal entries in the books of the company for the above
transactions.

12. ®gA fa. & gwel § fFefafed dae & A smevas dsmen sfafeat i

(i) ¥ 96,000, 12% FOTHE F e % T 100 TI® F THAT ¥ H ufEfod
& forar T | TEar 3 & A 4% & 93 W fear oo

(i) % 100 ¥&% & 4,800, 12% RGN & T 100 T&F & ¢ 13% UG H
yfafaa feam T | qU RO @ 25% & Wiftas W) it e o 6

Pass necessary Journal entries for the following transactions in the books

of Fortune Ltd : _

(i) Redeemed T 96,000, 12% Debentures by conversion into Equity
Shares of ¥ 100 each. The Equity Shares were issued at a
discount of 4%. v

(ii) Converted 4,800, 12% Debentures of ¥ 100 each into New 13%
Debentures of ¥ 100 each. The New Debentures were issued at a
premium of 25%.

67/1 5 Pies



13.

59 1 §UR UF FH & WHGR ¥ 997 2: 3 & S{Ua # @19 sfed 9 1 31.3.2011
T 39 fofg faewr f91 y&r o -
31.3.2011 & G5F q41 GHIX &7 fufq faewor

LURY] afer
TFad 4 grfaEt 4
EEils 9 T WA 3,00,000
gs: ¥ 2,00,000 i 1,00,000
¥R ;¥ .3,00,000 | 5,00,000 | TR 1,50,000
TR 1,05,000 | 3% 1,55,000
FHe effegfe ff 1,00,000
7,05,000 7,05,000

1.4.2011 & w4 & fgmed @ T qw gl v qAQREl w1 freawer fEger
g3 : '

(i) 9 9 9 9 999 & TG PAE e < 3,50,000 F o feam;
(i) 7% # fasa T 90,000 # ferar

(iii) TR T 9T T & P IR g TR @ WeR e |
W & g & U Eves s wafEE #ifew |

Sanjay and Sameer were partners in a firm sharing profits in the
ratio of 2 : 3. On 31.3.2011 their Balance Sheet was as follows :

Balance Sheet of Sanjay and Sameer as on 31.3.2011

Amount Amount

Liabilities _ 4 Assets 4
Capitals : - Land and Building| 3,00,000
Sanjay : < 2,00,000 Stock 1 1,00,000
Sameer : T 3,00,000 5,00,000 | Debtors 1,50,000

Creditors 1,05,000 | Bank 1,55,000
Workmen Compensation Fund | 1,00,000 :

7,05,000 7,05,000

67/1



The firm was dissolved on 1.4.2011 and the Assets and Liabilities

were settled as follows :

(1) Sanjay agreed to take over Land and Building at ¥ 3,50,000 by

paying cash;

(ii)  Stock was sold for T 90,000;

(iii) Creditors accepted Debtors in full settlement of their claim.

Pass necessary Journal entries for dissolution of the firm.

14. 31.3.2011 & §9G T a9 & fQ didedl WH Fdd & [AHfdrEd Nfd wd

TIH @A T G T4 FG T IR HI
31.3.2011 & THE T ¥ & ToT0 Ficrhar TigH Fora &1
mid T Y @t
AMH STHT
afer afa
ife 4 RUGIES %
9 M A 3,200 | =@ 1,800
e 22,500 | FHTaT (30.9.2010 # 12 ¥® | 2,300
o forg feam)
EENIR _ ferstedt 1,000
(wfmferd ¥ 1,000 TGk 4G 31@) | 3,000
T 750 | & 2,200
gre o1 e 1,750 | BifETT Ter Remd 400
¥ 2009 — 2010 St ITRAT = 2,000 | fafaer == 900
RRSIED 7,500
9% Tt ST (1.4.2010 ) 15,200
I I A T 1,900
33,200 33,200
67/1 7
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From the following Receipts and Payments Account of Kolkata Sports Club
for the year ended 31.3.2011, prepare Income and Expenditure Account :

Receipts and Payments Account of Kolkata Sports Club
for the year ended 31.3.2011

Dr. Cr.
Amount Amount
Receipts 3 Payments L4
To Balance b/d 3,200 | By Salary 1,800
To Subscriptions 22,500 | By Rent (paid on
30.9.2010 for 12 months) 2,300
To Entrance Fees (including By Electricity 1,000
T 1,000 as capital income) 3,000
To Donations 750 | By Taxes 2,200
To Rent of hall 1,750 | By Printing and Stationery 400
To Accrued interest for the By Sundry Expenses 900
year 2009 — 2010 2,000 By Books 7,500
By 9% Fixed Deposit
(on 1.4.2010) 15,200
By Balance c/d 1,900
33,200 33,200

15. 3T U1 WS TS WH & WRRR 4 7947 5 : 3 F I ¥ @ ded 24 | 31.3.2011
F 3IRH AN F 1/59 9 & [aC HeU N TH 797 WERR g | A9 @ foaarse
A 5:3: 2 | WGU & YA & THA wH o feafq faewor e wem @ o

67/1

af¥r afer

St z TryfEr 4
TSff 9 i Haa 1,50,000
3ed: T 1,50,000 HYRT 40,000
WeT: £90,000 | 240,000 | TE 5,000
gaa RO & fog smaye 1,200 | R 27,000
TR 20,000 | TR 47,000
e fagfa S 32,000 | I%3 4,200
-8 el 20,000
2,93,200 2,93,200
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TEU & YU & §Hy g8 fyofw femn wam fa

TeU ST Ut ¥ fAU € 40,000 dO @A KAREE & e 4 % fg
T 16,000 <TQ, fSgeR €T AT 3T 99T Hed o A fomm,

(1)

(ii)
(iii)
(iv)
(v)

Waw@@amﬁ%mzé%mwmé;

fafay o e’ # T 2,500 & TF 7g @ frEE P T@ w8

faselt & o1eT fod & fow T 3,000 &1 YEYH & &

w & foes T 325 % U Ayl g9 & AR A i weEd @ | 39 fo

W& FET 2

ST GAMESH & U¥EId e a1 Wed & OGSt & HEU @ IS & MER W
g # 2 | fafd SER Sted qd qed FU ke o S SFgEr I

eUGICECINES | et
iR @, e % USt ' 9u 9 w6 oa fafd faer der SR
HYAT
T, U3 a9 Hedl Uh GH F WECR & G991 3:2: 5 F UG H o1y sied ¥ |
31.12.2010 F W=, ¥3 o1 e & feufq foawor frgem o
qf3r qfyr
T Z gt 4
TS e 3,00,000
@ T 3,00,000 qf 9T o 5,00,000
¥ T2,00,000 CRET 1,70,000
Hed : ¥ 5,00,000 | 10,00,000 | = 30,000
E Ho 1,00,000 | SR 1,20,000
a3 A =0 50,000 | %S 45,000
AR 75,000 | -8 B 60,000 |}
12,25,000 12,25,000
9 P.T.O.




14 W€ 2011 ® 93 &I 5§ & TR |

gﬁdée%ag«umﬁaﬁaﬁﬂﬂmwﬁﬂﬁﬂm%ﬁqw

() O @ & 9w

(i) food ad & A9 & FUR | gog & fafy d& a9 § 9

(ili) THE & AR aF eAQdl & O e # amefa & ey W
ﬁ'ﬂ@ﬂ%: '

(F) 9 991 999 H T 1,20,000 ¥ FEA S §

(@) TIfed & 99 & ged T 1,35,000 9% q91 ©iF # T 25,000
TF T T

() WWWW%WWWZ%%W%W%!

(iv) ©3 & ISR & o7 YE I & WE 36 ([08s & HO @
§ & fear m, e om a. § @ oar |

e WA, e & §St @, 93 % SOUSR B @ 991 @9 U e
1 fafq faewr Gar S SRR o9 O @ @ AT ey e § TEd ge
FaqE H oG] WA & vem fm g | G o sufiem A e A wReRl %
| @l # EERIRG wX e s |

Atal and Madan were partners in a firm sharing profits in the ratio
of 5 : 3. On 31.3.2011 they admitted Mehra as a new partner for

1/5™ share in the profits. The new profit sharing ratio was 5 : 3 : 2.
On Mehra’s admission the Balance Sheet of the firm was as follows :

Amount Amount

Liabilities T Assets 3T
Capitals : Land and Building 1,50,000
Atal : T 1,50,000 Machinery 40,000
Madan : T 90,000 2,40,000 | Patents 5,000
Provision for bad debts 1,200 | Stock 27,000
Creditors 20,000 | Debtors 47,000
Workmen Compensation Fund 32,000 | Cash : 4,200
Profit and Loss Account | 20,000
2,93,200 2,93,200

67/1 10



On Mehra’s admission it was agreed that

(i) Mehra will bring ¥ 40,000 as his capital and ¥ 16,000 for his
share of goodwill premium, half of which was withdrawn by Atal

and Madan;

(ii) A provision of 2-;—% for bad and doubtful debts was to be created;

(iii) Included in the sundry creditors was an item of ¥ 2,500 which

was not to be paid;

(iv) A provision was to be made for an outstanding bill for electricity

% 3,000;

(v) A claim of ¥ 325 for damages against the firm was likely to be
admitted. Provision for the same was to be made.

After the above adjustments, the capitals of Atal and Madan were to
be adjusted on the basis of Mehra’s capital. Actual cash was to be
brought in or to be paid off to Atal and Madan as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and

the Balance Sheet of the new firm.

OR

Khanna, Seth and Mehta were partners in a firm sharing profits in
the ratio of 3 : 2 : 5. On 31.12.2010 the Balance Sheet of Khanna,
Seth and Mehta was as follows :

Amount Amount

Liabilities 3 Assets -4
Capitals : Goodwill 3,00,000
Khanna : % 3,00,000 Land and Building 5,00,000
Seth : T 2,00,000 Machinery 1,70,000
Mehta : ¥ 5,00,000 | 10,00,000 | Stock 30,000
General Reserve 1,00,000 | Debtors 1,20,000
Loan from Seth 50,000 | Cash 45,000
Creditors 75,000 | Profit and Loss Account 60,000
12,25,000 12,25,000

67/1 11 B0k
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On 14* March 2011, Seth died.

The partnership deed provided that on the death of a partner the
executor of the deceased partner is entitled to :

(1) Balance in Capital Account;
(i)  Share in profits upto the date of death on the basis of last year’s
profit;

(iii) His share in profit/loss on revaluation of assets and re-assessment of
liabilities which were as follows :

(a) Land and Building was to be appreciated by ¥ 1,20,000;

(b)  Machinery was to be depreciated to ¥ 1,35,000 and Stock to
T 25,000;

(¢) A provision of 2%% for bad and doubtful debts was to

created on debtors;

(iv) The net amount payable to Seth’s executors was transferred to
his loan account which was to be paid later.

Prepare Revaluation Account, Partners Capital Accounts, Seth’s
Executors A/c and the Balance Sheet of Khanna and Mehta who
decided to continue the business keeping their capital balances in
their new profit sharing ratio. Any surplus or deficit to be transferred
to current accounts of the partners.

IRF fa. 3 T 10 Y% F 70,000 THT 39 H T 35 WA W & Arw W
frifd & & fa smeeA smf=a g | afr &1 Pae 79 96R 3 FTET o9

3aeT W T 15 (R 12 wifiew wfga)

e W T 10 (X 8 HifHgH Hfed)

90 T f<H A W — I
65,000 3% & fAU TP W gC T4 G STacH H W H e W
T | UE 3ivHRe, TH, 9 2000 A3 w0 eyEeT fEar war @1, 3 e W W
TAE 78 f6ar | eeeT & qo v 9% S & Sed W far T | Es
TYE ¥oH Ud Sif<m amAr wiht v | 9d, 9% 9™ 3000 9 9, I a9 wd
S| I N OPIAE FE FA | 3T AW # o Sed o foar T | W= fag
U SR H § 4000 3 H T 50 ¥ oW F W ¥ Qi vew ¢ fritim W fean
| g i fRe T sl § tw % e sty wiefad 9

ITH oAl & AT RE. A @ g § eevas UsHmEn SfEEE S |

HICT

12
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ey fa. 3 T 10 Y95 & 75,000 GEAT 39 F 10% F 92 R frifgg s0 F
fau smaed smfma few | ufer &1 w79 TR ¥ w o

3Eed W T 2 ufq 3w
Eed W T 2 3fa W
W U 9 I W — 9N

1,50,000 3i¥ & fau sde W@ gC | 25,000 € & fAU sEEH @ O® W
fear T G 39 SMeTH d IEcH URT A9E W A W | UM HESH &
STUIfae SMUR W S7¥ & MEeA fofdl T | 39 R & 9 o< Afaike
1 GHEISE e W 3 U F & fom mr | gEa T 1250 S % A e
far o1 A 3T e URT T FIW TH S FEAT ART W OPE TG fHA |
T3 9 394 1000 3T W YW U A AEA H PAE @l fHA | 39 W sien
H e X faar M | S fRT oTC oS F ¥ @ #1000 SR & T 17 5
I H W H Pl yed [ e W w1 g feifre e T s § gee
& Wit ofy wfmfea o |

IWG A & faw iy fa. & qww H evevas UsAmEn ¥fafvar S |

R.K. Ltd. invited applications for issuing 70,000 Equity Shares of ¥ 10
each at a premium of T 35 per share. The amount was payable as

follows :
On Application ¥ 15 (including T 12 premium)
On Allotment ¥ 10 (including ¥ 8 premium)
On First and Final call — Balance

Applications for 65,000 shares were received and allotment was
made to all the applicants. A shareholder, Ram, who was allotted
2000 shares, failed to pay the allotment money. His shares were
forfeited immediately after allotment. Afterwards, the first and final
call was made. Sohan, who had 3000 shares, failed to pay the first
and final call. His shares were also forfeited. Out of the forfeited
shares, 4000 shares were re-issued at ¥ 50 per share fully paid up.
The re-issued shares included all the shares of Ram.

Pass necessary dJournal entries for the above transactions in the
books of R.K. Ltd.

OR

67/1 13 PiTRO:



17.

18.

19.
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Ashish Ltd. invited applications for issuing 75,000 Equity Shares of
T 10 each at a discount of 10%. The amount was payable as follows :

On Application ¥ 2 per share

On Allotment ¥ 2 per share

On First and Final call — Balance
Applications for 1,50,000 shares were received. Applications for
25,000 shares were rejected and application money of these applicants
was refunded. Shares were allotted on pro-rata basis to the remaining
applicants. Excess money received with these applications was
adjusted towards sums due on allotment. Suman, who had applied for
1250 shares, failed to pay allotment and first and final call money.
Dev did not pay the first and final call on his 1000 shares. All these
shares were forfeited and later on 1000 of these shares were
re-issued at ¥ 17 per share fully paid up. The re-issued shares

included all the shares of Suman.

Pass the necessary Journal entries in the books of Ashish Ltd. for the
above transactions.

I
(faxia Tereon &1 fagera)

PART B
(Financial Statements Analysis)

iy & fou foria faawon & fayomn & 98 & I #ifey |

State the significance of analysis of financial statements to “Top
Management’.

Jhe YO faew0r sH &1 1 29T 7 2
What is the objective of preparing a Cash Flow Statement ?

TH AORE FA G TF 3 S & 3 % AR 7 TG [ B UHS
yere faewor sad 999 g yor & wfafafy e smom 2

While preparing Cash Flow Statement, what type of activity is
‘Payment of cash to aquire shares of another company by a trading
company’ ?

14



20, TFY. fA. %1 @] UG 3 : 1 8 9 Wad UE 2 : 12 | AR RE W
et &t S arel 9] gl ool geEl @ 40,000 e B, d =Rl
il a9 A <Farsl @ MUl HifY | 3

X Ltd. has a current ratio of 3 : 1 and quick ratio of 2 : 1. If the
excess of current assets over quick assets as represented by stock is
T 40,000, calculate current assets and current liabilities.

21. frafafas go & fefafea 3§ 8 &= & ool & e ST 4
(%) RU-HHAT I,
(@) A IS Ed ST,
M By ® 5@ |

T
HAar 3f9 gST ¥ 10,00,000; FHE F9F % 1,00,000; AH-EIE Wi A AN
TAE & 9% % 3,00,000; 12% FOT9F T 4,00,000; &R T 3,00,000; 1 @
w1 ¥ 13,00,000; FA=X ¥ 3,00,000; ER ¥ 2,90,000; I%E T 1,10,000 1
TR =59 T 1,00,000.

31.3.2011 & 99 §C a9 & fa¢ fasa 3 30,00,000 o1 T4 50% & & TAH
forar T 41 |

From the following information, calculate any fwo of the following
ratios :

(a) Debt-Equity Ratio;

(b) Working Capital Turnover Ratio;

(e) Return on Investment.

Information :

Equity Share Capital ¥ 10,00,000; General Reserve T 1,00,000; Profit
and Loss Account after Tax and Interest T 3,00,000; 12% Debentures
T 4,00,000; Creditors ¥ 3,00,000; Land and Building ¥ 13,00,000;
Furniture ¥ 3,00,000; Debtors T 2,90,000; Cash ¥ 1,10,000 and
Preliminary expenses ¥ 1,00,000. :

Sales for the year ended 31.3.2011 was T 30,00,000 and Tax paid
50%.
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22, frafafea sma faewor § 31.3.2011 # ¥ g a9 & fau so< fa. &1 @
G SR & A e dgr Hi .

31.3.2011 & W9TW gC &9 & foQ s foA. &1 oma faawur

faeroT qf3r
3
hillls
fasra 25,38,000
I 38,000
3 AF 25,76,000
s
o= T A H AR 14,00,000
EEIRERCE 5,00,000
T 4 19,00,000
T 3,38,000

From the following Income Statement, prepare a Common Size
Income Statement of Jayant Ltd. for the year ended 31.3.2011 :

Income Statement of Jayant Ltd. for the year ended 31.3.2011

67/1

Particulars Amount
4
Income :
Sales 25,38,000
Other Incomes 38,000
Total Income 25,76,000
Expenses :
Cost of goods sold 14,00,000
Operating Expenses 5,00,000
Total Expenses 19,00,000
Tax 3,38,000

16




23. 31.3.2010 91 31.3.2011 &I =143, fa. & fq=fafEg fafq faewol 9 s R

feror daR T
31.3.2010 @91 31.3.2011 &t &t.@.3m. fa. & feafa oo
31.3.2010| 31.3.2011 31.3.2010 | 31.3.2011
g z z Feferar 2 2
o S G| 5,00,000 | 7,00,000 | T 1,00,000 | 95,000
-8 @ | 2,00,000 | 3,50,000 | ¥ 5,00,000 | 5,00,000
d& F= 1,00,000 | 50,000 | et — | 1,00,000
Wt @ | 50,000 | 70,000 | 3R 80,000 | 1,47,000
I EEIC] 30,000 | 50,000 | BRI 55,000 | 1,30,000
E 55,000 | 52,000 | %% 2,00,000 | 3,00,000
9,35,000 |12,72,000 9,35,000 | 12,72,000
el G :

g9 ¥ ¥ 1,00,000 o7 & I & F9 5@ ™0 | 999 F fAET W T 12,000

g g4 | €99 W T 18,000 F HoIE™ TN T | 6
From the following Balance Sheets of B.C.R. Ltd. as on 31.3.2010 and
31.3.2011, prepare a Cash Flow Statement :
Balance Sheets of B.C.R. Ltd. as on 31.3.2010 and 31.3.2011
31.3.2010| 31.3.2011 31.3.2010| 31.3.2011
Liabilities 4 4 Assets < 4
Equity Share Capital 5,00,000 | 7,00,000 | Patents 1,00,000 95,000
Profit and Loss Account | 2,00,000 | 3,50,000 | Equipment 5,00,000 | 5,00,000
‘Bank Loan 1,00,000 50,000 | Investments — | 1,00,000
Proposed Dividend 50,000 70,000 | Debtors 80,000 | 1,47,000
Provision for tax 30,000 50,000 | Stock 55,000 | +1,30,000
| Creditors 55,000 52,000 | Bank 2,00,000 | 3,00,000
9,35,000 |12,72,000 9,35,000 |12,72,000
67/1 17 P.T:0.




17.

18.

19.

20.

21.

22.

67/1

Additional Information :

During the year Equipment costing ¥ 1,00,000 was purchased. Loss
on sale of Equipment amounted to ¥ 12,000. ¥ 18,000 depreciation
was charged on Equipment.

WAT 77
(Ao AETE)

PART C
(Computerised Accounting)

FeY OF R FER FE Fr g 2

How does computer system work ?

fordt @d & Efed Fie & AW TS 919 F g fEge fdffte @ 2 2

What is represented by the ‘Third’ and ‘Fourth’ digits of the code
allotted to an account ?

FHiehgr H=ieu/adeEw =& 8 ?

What is data validation ?
AGHA I F & Bl O IU-E B THHET |
Explain any three sub-systems of Accounting Information System.

AT % fFE IR A $ smen i |
Explain any four advantages of D.B.M.S.

qEHETE WY ¥ SY=ifEl & g & a9 & e S F fau s690 & 9w
i fafaw | ;

Write the steps of a query to compute House Rent Allowance for
employees in Microsoft Access.

18



23.

(%)

(@)

(a)

(b)

frafafad g1 @ oo & TR & o s ¥ e wd ®owa

F AT FNT

% 40,000 F T 99 T 15% A T F; %40000@3:%&1@1:1125%
FRY | (T 97 C2 § ¥aft)

TR ¥ 39 fofe FE @ AW a0 gu SEme, Seer swEm @ st

& o dfed =9 & PEE # A F faw e e # o 2+4=6

From the following information, calculate the formula on Excel
for computing the amount of Transport Allowance :

Basic pay upto T 40,000, @ 15%; for more than ¥ 40,000, @ 25%.
(Basic pay is projected in C2).

Name and explain the financial function of Excel which is used to
calculate cumulative interest paid between two periods.



